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QUESTION 1

After completing the configuration of a new Brocade Fibre Channel switch, which command do you use to verify your
configuration?

A. switchshow
B. show config
C. configshow
D. cfgshow

Correct Answer: C

QUESTION 2

You are booting a NetApp storage system for the first time.In which order should the various components be powered
on?

A. any tape backup devices, disk shelves, network switches, NetApp controller heads
B. NetApp controller heads, disk shelves, any tape backup devices, network switches
C. NetApp controller heads, disk shelves, network switches, any tape backup devices
D. network switches, disk shelves, any tape backup devices, NetApp controller heads

Correct Answer: D

QUESTION 3

What are two performance tuning parameters available for Fibre Channel HBAs on a host? (Choose two.)
A. LUN queue depth

B. HBA BootBIOS enabled

C. Fibre Channel speed

D. LUN device ID

Correct Answer: AC

QUESTION 4

What is the significance of using a specific LUN type when creating LUNs manually on a NetApp storage system?
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A. The LUNSs offset, size of the prefix and suffix is determined by the LUN type, which differs for different operating
systems.

B. The LUN types are merely for administrative ease of use and the LUN types can be changed on the fly after
creation.

C. The LUN types allow the appropriate host operating systems to use the LUN. For example, a VMware type LUN
cannot be read from /written to using a Solaris host.

D. The host operating system will panic when the "wrong" LUN type is selected on the NetApp storage system.

Correct Answer: A

QUESTION 5

Click the Exhibit button.

Host2 Host3

-

Hosl1

FC Fabric
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In the diagram shown, how should the zoning configuration be changed to better comply with NetApp best practices?

A. four zones, each with one initiator, first two with the first target port and the second two with the second target port
B. two zones, each with two initiators and one target port

C. two zones, each with all four initiators and one target port

D. four zones, each with one initiator and both target ports

Correct Answer: D
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